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1

1.	 n = 1	 →		  a2 	= a1 + 1
n = 2	 →		  a3 	= a2  + 2
n = 3	 →	 	 a4 	= a3  + 3
	 ⁝	 ⁝

n = 9	 →	 +	 a10	= a9  + 9
			 

			   a10	= a1 + .9 10
2  = 3 + 45 = 48  olur.

Cevap: D

	 1	
2.	 n = 1	 için	 a2 = 1.a1 + 1 + 1 = a1 + 2 = 3

n = 2	 için	 a3 = 2.a2 + 2 + 1 = 2.a2 + 3 = 9
	 6
	 3

n = 3	 için	 a4 = 3.a3 + 3 + 1 = 3a3 + 4 = 31
	 6
	 9

n = 4	 için	 a5 = 4.a4 + 4 + 1 = 4a4 + 5 = 129 olur.
	 6
	 31

Cevap: B

3.	 n = 2	 →		  a2 – a1	 = 22 + 2 = 6
n = 3	 →		  a3 – a2	 = 32 + 3 = 12
n = 4	 →		  a4 – a3	 = 42 + 4 = 20
n = 5	 →	 +	 a5 – a4	 = 52 + 5 = 30
			
				   a5 – a1	 = 68
				   a5 – 2	 = 68
				   a5	 = 70

Cevap: B

4.	 n = 1	 →		  a2  – 2	 = a1        

14 tane
n = 2	 →		  a3  – 2	 = a2     

n = 3	 →		  a4  – 2	 = a3
	 ⁝	 ⁝

n = 14	 →	 +	 a15 – 2	 = a14			 
			   a15 – 28	 = a1

			   a15	 = 4 + 28 = 32  olur.
Cevap: D

5.	 n = 1	 →		  a2 	 = 51.a1

n = 2	 →		  a3 	 = 52. a2
n = 3	 →		  a4 	 = 53. a3
	 ⁝	 ⁝

n = 19	 → 	 x	 a20	 = 519. a19			 
			   a20	 = 51+2+…+19.a1

			   a20	 = 5
.
2

19 20
.5

			   a20	 = 5190.5

			   a20	 = 5191 olur.
Cevap: E

6.	 n = 1	 →		  a
a
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n = 5	 →		  a
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a

7
11

7
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9
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	 . . . .a
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9

11 	= . . . .1
5
3
7
5
9

7
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	 a
a
1

11 	= 3
143

	
a
3
11 	= 3

143     →    a11 = 143

Cevap: B
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1

7.	 3(an) – 2(bn)

= 3((n –1).(2n + 1)) – 2((n + 1)(3n + 2))
= 3(2n2 + n – 2n – 1) – 2(3n2 + 2n + 3n + 2)

= 3(2n2 – n – 1) – 2(3n2 + 5n + 2)

= n6 2  – 3n – 3 – n6 2  – 10n – 4

= –13n – 7

Cevap: D

8.	 n = 1	 →	 a2  = 
a
1
1

n = 2	 →	 a3  = 
a
2
2

n = 3	 →	 a4  = 
a
3
3

	 ⁝

n = 12	 →	 a13 = 
a
12
12

	 x
	

	 a13 = . . .….
a

1 2 3 12
1

	 a13 = ! . ! !12
12

12 11
12

11
1

= =   olur.

Cevap: B

9.	 n = 7	 için		  a7	= 2
1 7+ . a6

n = 6	 için		  a6 	= 1 6
2
+ . a5

n = 5	 için		  a5 	= 2
1 5+ . a4

n = 4	 için	 x	 a4 	= 2
1 4+ .a3			

				   a7	= . . . .a4 2
7 3 2

5
3

				   420	= 7.3.5.a3

				   a3	= 4 olur. 
Cevap: D

10.	 a8 = 29.8!

a6 = 27.6!     ⇒     
. !

. . . !
a
a

2 6
2 8 7 6

6
8

7

9
22

=  = 4.8.7

	 = 224
Cevap: A

11.	 n = 3	 → a
a
3

4  = 2.3 + 1	 → a
7
3

 = 7	 → a3 = 1

n = 2	 → a
a
2

3  = 2.2 + 1	 → a
1
2

 = 5	 → a2 = 5
1

n = 1	 → a
a
1

2  = 2.1 + 1	 → a
5
1

1
 = 3	 → a1 = 15

1

      ⇒ a1 + a2 = 15
1

5
1

15
4

3
+ =

^ h
  olur.

Cevap: B

12.	 n = 1	 →	 a2 = a1 + 2
n = 2	 →	 a3 = a2 + 4   =   a1 + 2 + 4   =   a1 + 6
n = 3	 →	 a4 = a3 + 6   =   a1 + 6 + 6   =   a1 + 12

⇒	 a1 + a2 + a3 + a4	 = 32
	 a1 + a1 + 2 + a1 + 6 + a1 + 12	 = 32
	 4a1 + 20	 = 32
	 4a1	 = 12
	 a1	 = 3  olur.

Cevap: D


